H & 0l & AHS B Ml A

24E 5 20lat LBeH WS
2N DS
I gus 29
el guls AlE 3t (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
gis 544,888 502,500 42,388
gus 29 477,193 432,360 44,833
StilES At 2t 477,193 432,360 44,833
a2 FE=SIAAMY 68,200 69,300 1,100
401 AlZHIZ SO 68,200 68,300 A100
01 A28l 68,200 68,300 A100
OARRE o= A 50,000
OF2Al A 18,200
At 131,159 116,616 14,543
101 @124H| 35,011 31,388 3,623
M IIRINZENSES 35,011 31,388 3,623
OF2 &2 JI=EH
161,9003 x99 *63] 8,743
OREX & AIZE 2l
39,4402 x3H*200 23,664
OFEX & AIE= 2l 4UEE
23,664,000 *11% 2,604
201 Ler=23| 85,648 73,228 12,420
01 At2teltl 37,648 29,228 8,420
Ogerrgl| 14,500
OReEAB 2% 10,000
OZASOIA|(HIABTE) B
111,000~ 12& 1,332
Ot e |l =
143,000& * 12 1,716
OaxgAIE FX&c] EH
220,000& 128 2,640
OSgagsll R EY 600
OsdIl RAE2F EY
230,000& * 122 2,760
Ooglisd 22N 1,100
o1+ - 21N 2= 289 3,000
2 Ss52g4l 48,000 44,000 4,000
OZZ2=ZAAl 42,000
Oxtgrzgl 3,000,000 *2CH 6,000
206 M=l 1,000 1,000
01 MZH| 1,000 1,000
OxZad & 33yl 500
OMRst Hel =24 500
401 AIEHIZ SR 0HYI 9,500 9,500
01 Al&HI 9,500 9,500
OFA =4 & &= SA 9,500
AsgEiis 29 7,284 14,494 AT7,210
301 LEtE NS 7,284 14,494 AT7,210
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2A:

gus
Hu: BDE 29
el guls AlE 3t (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORAIMZE SALE
35,0003 x9 1 = +126A1 2t 39,690
Mol & THEH 22 22,500 22,500 0
THOH AHH Ofl'gd 22,500 22,500 0
Mol AHEE Oilet & =7 X 22,500 22,500 0
201 =3 22,500 22,500 0
01 At2t2ltl 22,500 22,500 0
Oss=+ dHl 8xtg 1,500
Odtd =Xl &bl Sxz 21,000
YA (S8 S) 45,19% 47,640 N2,445
Jl=2&d| 45,195 47,640 A2,445
Jl=&H| 45,195 47,640 A2,445
201 =3 4,65 8,900 A4,245
01 AtR2t2ltl 4,655 2,900 1,755
OFFd MHe22=E 25,0002 119 2,975
O=gl 1,680
202 04dl 28,200 26,400 1,800
01 2L AL 1,200 1,200 0
O=LHNHI 1,200
02 XN 27,000 25,200 1,800
O H0iH| 150,000 x15F «12& 27,000
203 HR=H] 12,340 12,340
01 J|2=2gedR=a] 8,100 8,100
OJ|2=2gede=a] 8,100
02 3t RF&| 640 640 0
ORIt =AY 40,0002 16 640
MU FA2SHIFII 3,600 3,600 0
ORAMEZE =4 300,000+ 12 3,600




